Efficiency vs P,

10.05
o
9.045
>
20.04
o
.035
0]
0.03
0.025
0.02
0.015
0.0
0.005
el

1.05

Ratio

iy

0.95

107 1 10 prT (Ge\})o3

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
—e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
—— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

..........................................

i & i

. -q- - - -+ 414

H 1 14

A HE-1-F +H 11

- q q

0.95F L Tl 1l -1 F I

E b H i
0.95 A G
=3 -2 -1 0 2 3

Efficiency vs ¢

o-0.05¢
o E
Q.045 ;
(8] .




	Contents
	Page 1


